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so that (2.17) can be rewritten as: 

I: a 
k 

a 
- B(g)q - 4 + n(l+y(g)) I 

rCn) (Xp l'"xPn;g,U) = 0. (2.23) 

The general solution of (2.23) is most transparently 

expressed in terms of the effective coupling constant FJ (t,g): 

t = anA 
(2.24) 

g T(t,g) = S(G), gto,gj = g 

This function is given implicityly by: 

5 s dx 
g m =t 

and satisfies: 
C 

a a 
%I- B(g) z 7 T(t,g) = 0. 

(2.25) 

(2.26) 

The physical meaning of the effective coupling constant 

g(t,g) is that it equals the renormalized coupling constant 

defined by performing the subtractions indicated in (2.6-g) at 

the Euclidean point p2 = - u2h2 = - p e . 2 2t It is expressed 

in terms of the renormalized coupling constant g (which was 

determined by subtracting at p2 = -l12). The renormalization 

group equation (2.24) then determines the effect on s of a 

change in the subtraction point. 

In terms of g we have: 

r(n) UP,, ..Ap,;g,!l) = r(n)(pl,...,pn;9(t,g),u)A4-n 
(2.27) 
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